Transfers Report

This report contains the transfers results.

Contest Name	Ward 15 Maryhill
Valid Votes	5,663
Positions to be Filled	3
Quota	1,416

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Abdul BOSTANI	Scottish National Party (SNP)	1,106
Damian Matthew CLARK	Freedom Alliance. No More Experimental Jabs.	58
Derek DUNNINGTON	Scottish Liberal Democrats	136
Heather MACLEOD	Scottish Conservative and Unionist	463
Amy Irene MARQUEZ	Scottish Greens - Delivering For Our Community	696
Keiran O'NEILL	Glasgow Labour	1,523
Franny SCALLY	Scottish National Party (SNP)	1,279
Gwen Farrell WALL	Glasgow Labour	402
	Total	5,663

Candidate Keiran O'NEILL Elected with 1,523 votes, being in excess of the quota of 1,416

Transfers Report

This report contains the transfers results.

107.00000

Stage 2 - Surplus of Keiran O'NEILL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Abdul BOSTANI	62	0.07025	4.35550
Transfer to Derek DUNNINGTON	27	0.07025	1.89675
Transfer to Heather MACLEOD	55	0.07025	3.86375
Transfer to Amy Irene MARQUEZ	41	0.07025	2.88025
Transfer to Franny SCALLY	88	0.07025	6.18200
Transfer to Gwen Farrell WALL	1,131	0.07025	79.45275
No further preference	117	0.07025	8.21925
Not transferred due to rounding			0.00925
	Total		107.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Damian Matthew CLARK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Derek DUNNINGTON	12	1.00000	12.00000
Transfer to Heather MACLEOD	12	1.00000	12.00000
Transfer to Amy Irene MARQUEZ	5	1.00000	5.00000
Transfer to Franny SCALLY	4	1.00000	4.00000
Transfer to Gwen Farrell WALL	7	1.00000	7.00000
Transfer to Franny SCALLY	1	0.07025	0.07025
Transfer to Gwen Farrell WALL	1	0.07025	0.07025
No further preference	18	1.00000	18.00000
Not transferred due to rounding			0.00000
	Total		58.14050

58.14050

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Derek DUNNINGTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Abdul BOSTANI	11	1.00000	11.00000
Transfer to Heather MACLEOD	20	1.00000	20.00000
Transfer to Amy Irene MARQUEZ	33	1.00000	33.00000
Transfer to Franny SCALLY	12	1.00000	12.00000
Transfer to Gwen Farrell WALL	34	1.00000	34.00000
Transfer to Abdul BOSTANI	1	0.07025	0.07025
Transfer to Heather MACLEOD	7	0.07025	0.49175
Transfer to Amy Irene MARQUEZ	5	0.07025	0.35125
Transfer to Franny SCALLY	2	0.07025	0.14050
Transfer to Gwen Farrell WALL	8	0.07025	0.56200
No further preference	38	1.00000	38.00000
No further preference	4	0.07025	0.28100
Not transferred due to rounding			0.00000
	Total		149.89675

149.89675

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Heather MACLEOD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Abdul BOSTANI	11	1.00000	11.00000
Transfer to Amy Irene MARQUEZ	42	1.00000	42.00000
Transfer to Franny SCALLY	12	1.00000	12.00000
Transfer to Gwen Farrell WALL	194	1.00000	194.00000
Transfer to Abdul BOSTANI	3	0.07025	0.21075
Transfer to Amy Irene MARQUEZ	2	0.07025	0.14050
Transfer to Gwen Farrell WALL	35	0.07025	2.45875
No further preference	236	1.00000	236.00000
No further preference	22	0.07025	1.54550
Not transferred due to rounding			0.00000
	Total		499.35550

Report Name: Transfers_V0001_Ward-15-Maryhill_06052022_165221.pdf Created: 06-5-2022 16:52:21

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Gwen Farrell WALL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Abdul BOSTANI	29	1.00000	29.00000
Transfer to Amy Irene MARQUEZ	112	1.00000	112.00000
Transfer to Franny SCALLY	63	1.00000	63.00000
Transfer to Abdul BOSTANI	64	0.07025	4.49600
Transfer to Amy Irene MARQUEZ	230	0.07025	16.15750
Transfer to Franny SCALLY	119	0.07025	8.35975
No further preference	433	1.00000	433.00000
No further preference	762	0.07025	53.53050
Not transferred due to rounding			0.00000
	Total		719.54375

719.54375

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Amy Irene MARQUEZ

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Abdul BOSTANI	311	1.00000	311.00000
Transfer to Franny SCALLY	297	1.00000	297.00000
Transfer to Abdul BOSTANI	49	0.07025	3.44225
Transfer to Franny SCALLY	57	0.07025	4.00425
No further preference	280	1.00000	280.00000
No further preference	172	0.07025	12.08300
Not transferred due to rounding			0.00000
	Total		907.52950